CSCI 201: Exam 1 Solution

Problem 1:

In C++, what is the evaluation of the following expressions? 

1. 2.0 + 4 / 3 * 3

ANS: 5.0
2. 6 % (3 + 2) / 10 % 1

ANS: 0 or false
3. !1 && 3 % 2 < 1

ANS: 0 or false
4. int y  =  5 !=  5 || 0 < 1 < 1

ANS: 0 or false
5. !(0 && 4 || 1+2)

ANS: 0 or false
Problem 2:

Write a C++ program that:

(1) prompts the used to enter a positive integer number

(2) tells the user if that number is divisible by 7

Examples of running this program would look like the following:


Enter a positive integer number:  7

 
7 is a multiple of 7


Enter a positive integer number:  -4

 
-4 is not a positive number


Enter a positive integer number:  8

 
8 is not a multiple of  7

ANS:

#include <iostream>

#include <string>

using namespace std;

int main()

{

   cout << “enter a positive integer number: “;

   int number;

   cin >> number;

   if(number > 0) {

        if(number % 7 == 0) {


     cout << number << “ is a multiple of 7” << endl;

        }

        else {

           cout << number << “ is not a multiple of 7” << endl;

        }

   }

   else

      cout << number << “ is not a positive number” << endl;

      return 0;

}

Problem 3:

Write the function whose prototype is given below.

    string DayName(int day);

     // pre: 1 <= day <= 7

     // post: returns the string representing the day, with

     //       1 representing “Sunday”,  2 representing “Monday” , …,  

     //       7 representing “Saturday”

ANS:

string DayName(int day)

{

   if(day == 1) return “Sunday”;

   else if(day == 2) return “Monday”;

   else if(day == 3) return “Tuesday”;

   else if(day == 4) return “Wednesday”;

   else if(day == 5) return “Thursday”;

   else if(day == 6) return “Friday”;

   else if(day == 7) return “Saturday”;

}

Problem 4:

Compare the two versions of the function called digit() and tell me if they produce the same output.  Explain your answer.

        Version 1





Version 2

 void  digit(int number)



void  digit(int number)
{   






{   

    if (0 >= number) cout << "zero";


     if (0 >= number) cout << "zero";

    else if (1 >= number) cout << "one";

     if (1 >= number) cout << "one";

    else if (2 >= number) cout << "two";

     if (2 >= number) cout << "two";

    else if (3 >= number) cout << "three";

     if (3 >= number) cout << "three";

    else if (4 >= number) cout << "four";

     if (4 >= number) cout << "four";

    else if (5 >= number) cout << "five";

     if (5 >= number) cout << "five";

    else if (6 >= number) cout << "six";

     if (6 >= number) cout << "six";

    else if (7 >= number) cout << "seven";

     if (7 >= number) cout << "seven";

    else if (8 >= number) cout << "eight";

     if (8 >= number) cout << "eight";

    else if (9 >= number) cout << "nine";      

     if (9 >= number) cout << "nine";

}






}

ANS:

No, they do not produce the same output.  For number = 0, version 1 will output: zero, whereas version 2 will output: zero one two three … nine.

